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3. 9a2-16p2=-120°0]T 3a—4b =4 & W, 3a + 4b ] S FotH?

D 2 ® 3 B3 -2 @ -3 ®B -5



4. (x42)? - (x-1)(x+2) & Asto] 2Fs] HepfH?

@ 2x24+4x+6 @ 2x% —4x @ x2-7Tx+2

@ 3x+6 ® 3x-6






x(x 4 2)(x +4)(x + 6) + 16

= x(®) x (x+2)(?) + 16

= (x2 4 6x)(®) + 16

(@) =A 25t

A2+ 8A+16=(A+4)* = (®)?

@ x+5 @ x+3

@ x2 1+ 6x ® x2+6x+1

® x*+4x+38



7. x*-9+xy-3y & A5Ea5IH?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x-3)(x-3-y) @ (x=-3)(x+3+Yy)

® (x+3)(x=-3+y)



8. U dgEs A ol A4S BF A=Y (Fa>0,b>0)

Ayl dy -1 = - (D2 -+ 1) =2 - (y-1)?2 =
(x+2y-1)(x=2y+1)

® a*+ 2ab+ b? = (a + b)?
@ a®-2ab + b* = (a-b)*
® a?>-b?>=(a+b)(a-Db)
@ x*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)



® x?+1

@ x+1

D x-1

® x2+x-1



@ x(x-6)
@ (x-4)(x+2)

@ (x+2)(x-6)
® x(x-4)



11, (x-2)(x=-3)(x-4)(x=5)+1= (> +ax+b)?>L W, a b2 TS
ool et

Ll Hia=

YERE



12, Bx+1)2-(2x-3)2= (5x+a)(x+b) & W, a-b 9] 327

D 5 ® -1 B —6 @ =10 B —-12
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14.

X2 = 9y? 4 4x + 12y & ASESSHH (Ax + By) (Cx + Dy +4) 7}
Hoha ek A+ B+ C + D 9] 3& Fatofet

s
=¥



15. 2 —y?>+6x-2y+8 & AFENGHH (ax+by+c)(x+y+4) € o,
a+b+c 9 g& okt

aa?a%-bw—c:



16. a=V3-4, b=2+4+V3, c=3-V3L U, a®>-ab+ac-bc 2 <
Faolat

& e
-



17. 2x+2)2+ (x+2)(3x—1) -

(B3x-1)2 =
ab + cd ©) 3+ T (H, a,

c = %)

(ax-i-b)(c)c_,_d) OE] ]IH’

D -1 @ 3 ® 0 @ 2



18.

(a_b+3)2_(a+b+3)2’%2l'%6]

o

A2

@ -4b(a-3) @ —da(b+3)

Q® -8b(a+3)
® -4b(a+ 3)

@ —4a(b-3)
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